Non-Removable Fold Down Side Guards

Seat Frame shown
for reference only

Fold Down Back Chairs

= X ®®
6° >
Frame shown

for reference only

7

o

Fixed Back Chairs



Non-Removable Fold Down Side Guards

Quantity Per

Item
Number | Note | Part Number |Description Package | Assembly
1 1114099 NLA - Screw, Hex Head (1/4-28 x 2") 1 8
2 1039232-NLA | NLA - Cam, Adjustment 1 2
3 1071496-NLA | NLA - Pin, Roll (3/16 x 3/4") 1 2
4 1114084-NLA | NLA - Bracket, Support Back, Black -Right 1 1
4 1114085-NLA | NLA - Bracket, Support Back, Black -Left 1 1
5 1058636-NLA | NLA - Washer, Nylon (25/64 x 7/8 x 1/32") 1 2
6 1108477-NLA | NLA - Washer, Nylon (1/4 x 3/4 x 5/8") 1 4
7 1114087-NLA | NLA - Guard, Side, Folding, Black 1 2
8 1026162 Spacer (1/4 x 3/8 x 11/32") 1 4
9 1040776-NLA | NLA - Spacer, Nylon (1/4 x 1 x 1/4") 1 4
10 40157X020 Spacer, Coved (1/4 x 1 x 9/16") 1 4
11 1026907 Washer (1/4 x 1/2 x 1/16") 1 14
12 1116005-NLA | NLA - Bracket, Latch, Black 1 2
13 1039233 Spacer (1/4 x 7/16 x 5/8") 1 2
14 1114077-NLA | NLA - Latch, Torsion Spring - Right 1 1
14 1114078-NLA | NLA - Latch, Torsion Spring - Left 1 1
15 1025728 Washer (1/4 x 1/2 x 1/32") 1 2
16 1025765 Locknut (1/4-28) 1 10
17 1141633 Cord, Nylon (6-1/2 ft.) 1 1
18 1012371 Washer, Nylon (3/8 x 7/8 x 1/16") 1 8
19 A 1114097-NLA | NLA - Kit, Fold Down Back Mounting Hardware with 2 1
Side Guards
20 1114099 NLA - Screw, Hex Head (1/4-28 x 2") 1 4
21 1108477-NLA | NLA - Washer, Nylon (1/4 x 3/4 x 5/8") 1 8
22 1114087-NLA | NLA - Guard, Side, Folding, Black 1 2
23 40157X020 Spacer, Coved (1/4 x 1 x 9/16") 1 4
24 1026907 Washer (1/4 x 1/2 x 1/16") 1 4
25 1025765 Locknut (1/4-28) 1 4
26 B 1114149-NLA | NLA - Kit, Fixed Back Mounting Hardware with Side 2 1
Guards
NOTE: A -Includes items 1-18

B - Includes items 20-25




